
Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

He did not have few hopes when he contested the election. /No error

Ans 1. He did not have

2. few hopes when he

3. contested the election

4. No error

Question ID : 239087901
Status : Answered

Chosen Option : 2

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

The housing problem in Mumbai becomes more serious day by day.

Ans 1. No Improvement

2. become

3. had become

4. is becoming

Question ID : 239087902
Status : Answered

Chosen Option : 4

Q.3 Choose the most appropriate word that can substitute the given group of words.

The art of creating and arranging dances

Ans 1. Geology

2. Choreography

3. Seismology

4. Calligraphy

Question ID : 239087920
Status : Answered

Chosen Option : 2

Q.4 Select the most appropriate antonym of the given word.
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Ans 1. General

2. Modern

3. Past

4. Present

Question ID : 239087916
Status : Answered

Chosen Option : 3

Q.5 Select the most appropriate option to fill in the blank.

I am always ____ for good books.

Ans 1. looking out

2. looking down

3. looking after

4. looking into

Question ID : 239087923
Status : Answered

Chosen Option : 1

Q.6 Select the most appropriate option to fill in the blank.

My mother is the ____ inspiration in my life.

Ans 1. big

2. bigger

3. biggest

4. most biggest

Question ID : 239087905
Status : Answered

Chosen Option : 3

Q.7 Select the most appropriate synonym of the given word.

Courteous

Ans 1. Optional

2. Arrogant

3. Polite

4. Meritorious

Question ID : 239087913
Status : Answered

Chosen Option : 2

Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Sterling is only twenty four but have achieved so much in his professional football career.

Ans 1. but have achieved so much

2. in his professional football career



3. No error

4. Sterling is only twenty four

Question ID : 239087899
Status : Answered

Chosen Option : 4

Q.9 Select the most appropriate meaning of the given idiom.

To feel at home

Ans 1. To feel comfortable

2. To miss one's home

3. To feel out of place

4. To be rarely at home

Question ID : 239087918
Status : Answered

Chosen Option : 1

Q.10 Choose the correctly spelt word.

Ans 1. Foreign

2. Eddition

3. Forrward

4. Enfluence

Question ID : 239087922
Status : Answered

Chosen Option : 1

Q.11 Select the most appropriate synonym of the given word.

Infuriate

Ans 1. Endow

2. Enhance

3. Enrage

4. Engage

Question ID : 239087914
Status : Answered

Chosen Option : 2

Q.12 Select the most appropriate antonym of the given word.

Familiar

Ans 1. Usual

2. Common

3. Known

4. Strange

Question ID : 239087915
Status : Answered



Chosen Option : 4

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

Not only the parents but also the children were sad at leaving the house.

Ans 1. as also

2. so even

3. and also

4. No Improvement

Question ID : 239087903
Status : Answered

Chosen Option : 4

Q.14 Choose the correctly spelt word.

Ans 1. Extravagant

2. Extrawagant

3. Extravagent

4. Extrevagant

Question ID : 239087921
Status : Answered

Chosen Option : 1

Q.15 Select the most appropriate option to fill in the blank.

I ______ blood in the hospital tomorrow.

Ans 1. have donated

2. was donating

3. will donate

4. had donated

Question ID : 239087906
Status : Answered

Chosen Option : 3

Q.16 Choose the most appropriate word that can substitute the given group of words.

A violent windstorm

Ans 1. Temperate

2. Drought

3. Draught

4. Tempest

Question ID : 239087919
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.



Education makes a person self-reliant. An (1)____ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)____ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____ is at the
mercy of others.

SubQuestion No : 17

Q.17 Select the most appropriate option for blank No. 1.

Ans 1. illiterate

2. educated

3. wise

4. learned

Question ID : 239087908
Status : Answered

Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Education makes a person self-reliant. An (1)____ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)____ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____ is at the
mercy of others.

SubQuestion No : 18

Q.18 Select the most appropriate option for blank No. 2.

Ans 1. to

2. in

3. at

4. on

Question ID : 239087909
Status : Answered

Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Education makes a person self-reliant. An (1)____ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)____ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____ is at the
mercy of others.

SubQuestion No : 19

Q.19 Select the most appropriate option for blank No. 3.

Ans 1. fate

2. luck

3. chance

4. lot

Question ID : 239087910
Status : Answered

Chosen Option : 1

Comprehension:



In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Education makes a person self-reliant. An (1)____ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)____ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____ is at the
mercy of others.

SubQuestion No : 20

Q.20 Select the most appropriate option for blank No. 4.

Ans 1. has needed

2. is needing

3. need

4. needs

Question ID : 239087911
Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Education makes a person self-reliant. An (1)____ person is well equipped to take important
decisions (2)____ life. He is the master of his (3)____ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____ is at the
mercy of others.

SubQuestion No : 21

Q.21 Select the most appropriate option for blank No. 5.

Ans 1. and

2. unless

3. though

4. but

Question ID : 239087912
Status : Answered

Chosen Option : 1

Q.22 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

It is easier to preach then to follow. /No error

Ans 1. to preach

2. It is easier

3. then to follow

4. No error

Question ID : 239087900
Status : Answered

Chosen Option : 3

Q.23 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

The train pass over the long dark tunnel.

Ans 1. passes into



2. pass across

3. No Improvement

4. passed through

Question ID : 239087904
Status : Answered

Chosen Option : 4

Q.24 Select the most appropriate meaning of the given idiom.

Go getter

Ans 1. A real achiever

2. One who does the right thing

3. One who runs away

4. A greedy person

Question ID : 239087917
Status : Answered

Chosen Option : 2

Q.25 Select the most appropriate option to fill in the blank.

Young people from disadvantaged homes look for ____ in government jobs.

Ans 1. utility

2. capability

3. ability

4. stability

Question ID : 239087924
Status : Answered

Chosen Option : 4

Q.1 उस  का चयन  जो तीसरे पद से उसी   है    पद पहले पद से
 ।ैह

NPRT : OQSU :: HJLN : ?

Ans 1. IKMO

2. IKNO

3. IMKO

4. KINO

Question ID : 2390871037
Status : Answered

Chosen Option : 1

Q.2   कूट भाषा , ‘BOTANY’ को ‘CQWBPB’  जाता ।ैह  उसी कूट भाषा  ‘INSECT’ का कोड
 होगा?

Ans 1. JPVFEW

2. JPUFEW
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3. KQWGFX

4. KRWGFX

Question ID : 239087653
Status : Answered

Chosen Option : 1

Q.3   कूट भाषा , ‘RIP’ को ‘42’  जाता है और ‘MOL’ को ‘39’  जाता ।ैह  उसी कोड भाषा
 ‘GAN’ का कोड  होगा?

Ans 1. 21

2. 22

3. 23

4. 20

Question ID : 239087656
Status : Answered

Chosen Option : 1

Q.4 नीचे    से उस  को  जो      (?) के  पर आएगी।

279, 277, 273, 267, ?

Ans 1. 259

2. 261

3. 257

4. 263

Question ID : 239087662
Status : Answered

Chosen Option : 1

Q.5  नीचे  गयी दो  को आपस  बदल  जाता है तो   से कौन सा समीकरण सही
होगा? 
3 तथा 5

Ans 1. 1 + 9 ÷ 3 + 5 = 9

2. 3 + 5 – 4 × 2 = –1

3. 6 + 5 × 2 – 3 = 7

4. 3 + 4 – 1 × 5 = 2

Question ID : 239087666
Status : Answered

Chosen Option : 3

Q.6 नीचे  गए  और उनके  को  से     गई जानकारी को  , चाहे वे
  से   से  लगती  सभी   और      गए कौन-से/सा
,  का   से णरसुनअ  करता/करते 

कथन:
I. सभी P, Q 
II. कुछ Q, Z 
III. कुछ Z, T 

:
I. कुछ T, P 



II. कुछ P, Z 
III. कोई T, Z नही 

Ans 1. केवल  II णरसनुअ  करता ।है

2.   II तथा III णरसनुअ  करत े

3. केवल  I णरसनुअ  करता ।है

4. कोई भी  णरसनुअ   करता ।है

Question ID : 239087660
Status : Answered

Chosen Option : 4

Q.7 नीचे  गए  और उनके  को  से     गई जानकारी को  , चाहे वे
  से   से  लगती  सभी   और      गए कौन सा/से
,  का   से णरसुनअ  करता/करते 

कथन:
I. कुछ लकड़ी  
II. सभी  चटाई 

:
I. कुछ चटाई लकड़ी 
II. कुछ  लकड़ी 
III. सभी लकड़ी चटाई 

Ans 1.   II तथा III णरसनुअ  करत े

2. कोई भी  णरसनुअ   करता ।है

3.   I तथा II णरसनुअ  करत े

4. केवल  I णरसनुअ  करता ।है

Question ID : 239087661
Status : Answered

Chosen Option : 3

Q.8 दो कथन और उसके बाद दो  I और II  गए  आपको  को  मानते   करना है,
भले ही वे    से   होते ,    कौन से   का  
से णरसनुअ  करते  

कथन
क. सभी बेस  रूगंअ  
ख. सभी रूगंअ  ीरेब  

I. सभी बेस  ीरेब  
II सभी रूगंअ  बेस  

Ans 1. केवल  I णरसनुअ  करता ।है

2. या तो  I या II णरसनुअ  करता ।है

3. न तो  I और न ही  II णरसनुअ  करता ।है

4. केवल  II णरसनुअ  करता ।है

Question ID : 2390871036
Status : Answered

Chosen Option : 1

Q.9 नीचे  गए   से  के  पर आने वाली    

49 86 104
65 70 88



27 66 78
87 90 ?

Ans 1. 74

2. 192

3. 114

4. 84

Question ID : 2390871040
Status : Answered

Chosen Option : 3

Q.10 नीचे    से उस   को  जो      (?) के  पर
आएगा।

MR, NU, OX, PA, ?

Ans 1. RE

2. QC

3. RC

4. QD

Question ID : 239087649
Status : Answered

Chosen Option : 4

Q.11 उस  का चयन  जो तीसरी  से उसी   है     पहली 
से  ।ैह

9 : 162 :: 13 :___

Ans 1. 290

2. 330

3. 390

4. 338

Question ID : 2390871038
Status : Answered

Chosen Option : 4

Q.12 छ: कार D, F, H, J, L तथा N   ओर खुम  करके एक  पथ के  –  खड़ी  गयी  (
  वे इसी   हो)। H, N के  ओर तीसरी ।ैह  J, D के तंरुत   ओर ।ैह  F, N के  ओर 

।ैह  D, F के  ओर  ।ैह  कौन-सी कार H के  ओर   पर खडी है?

Ans 1. F

2. J

3. L

4. N

Question ID : 239087657
Status : Answered

Chosen Option : 3

Q.13 उस  का चयन  जो तीसरे  से उसी तरह से  है ेसैज    पहले  से  ।ैह

रबड :  ::  : ?



Ans 1. ानठबै

2. लकड़ी

3. जमे

4. 

Question ID : 239087651
Status : Answered

Chosen Option : 1

Q.14 छ:  C, E, G, I, K तथा M   ओर खुम  करके एक  जेम  के  -  ठेैब    (
  वे इसी   हो)। M, G के  ओर  ।ैह  E, C के  ओर  ।ैह  K, M के तंरुत   ओर

।ैह
E के तंरुत   ओर कौन ाठैब   है?

Ans 1. G

2. I

3. K

4. M

Question ID : 239087658
Status : Answered

Chosen Option : 1

Q.15    से उस   को ,  वही धंबंस  है, जो नीचे  गए    ।ैह

GOM : JSR :: ?

Ans 1. COB : FSG

2. LAP : OFU

3. MOP : PSV

4. RAT : UFY

Question ID : 239087652
Status : Answered

Chosen Option : 1

Q.16 उस   का चयन     आपस  उसी   है   नीचे  गए
  के   आपस   ।ैह

गबन करना : 

Ans 1. दोषी ठहराना : फंसाना

2.  : 

3. पछताना : अपराध

4.  ठहराना :  देना

Question ID : 2390871035
Status : Answered

Chosen Option : 3

Q.17 नीचे    से उस  को  जो      (?) के  पर आएगी।

8, 8, 16, 48, ?

Ans 1. 192



2. 190

3. 196

4. 216

Question ID : 239087663
Status : Answered

Chosen Option : 1

Q.18 उस सही  का चयन  जो  को ारूप  ।ागेरक

72, 83, 95, 108, ___

Ans 1. 120

2. 122

3. 121

4. 123

Question ID : 2390871039
Status : Answered

Chosen Option : 2

Q.19 चँाप   R, T, V, X तथा Z (    वे इसी   हो) सोमवार से  तक पढ़ाये जाते  एक
  केवल एक ही  पढाया जाता ।ैह  R से पहले केवल Z पढ़ाया जाता ।ैह  X से पहले T पढ़ाया जाता ।ैह

T रावधुब  को नही पढ़ाया जाता ।ैह  V से पहले   पढ़ाये जाते ?

Ans 1. 1

2. 3

3. 0

4. 2

Question ID : 239087659
Status : Answered

Chosen Option : 4

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 239087665
Status : Answered

Chosen Option : 3

Q.21  समीकरण को सही बनाने के   दो  को आपस  बदलना होगा? 

5 × 8 + 7 – 3 = 14

Ans 1. 3 तथा 7

2. 8 तथा 5



3. 7 तथा 8

4. 8 तथा 3

Question ID : 239087667
Status : Answered

Chosen Option : 4

Q.22 उस  का चयन  जो तीसरी  से उसी तरह से  है ेसैज    पहली  से
 ।ैह

17 : 289 :: 31 : ?

Ans 1. 1021

2. 941

3. 1089

4. 961

Question ID : 239087664
Status : Answered

Chosen Option : 4

Q.23 उस  का चयन  जो तीसरे  से उसी तरह से  है ेसैज    पहले  से  ।ैह

कपडा :  :: फसल : ?

Ans 1. 

2. 

3. 

4. तखे

Question ID : 239087650
Status : Answered

Chosen Option : 4

Q.24   कूट भाषा , ‘PLANTS’ को ‘QNBPUU’  जाता ।ैह  उसी कूट भाषा  ‘KIDNEY’ का कोड
 होगा?

Ans 1. LKEPFA

2. LKFPFA

3. MLEQGE

4. MLFQGB

Question ID : 239087654
Status : Answered

Chosen Option : 1

Q.25   कूट भाषा , ‘POLE’ को ‘48’  जाता है और ‘ROG’ को ‘40’  जाता ।ैह  उसी कोड
भाषा  ‘TIP’ का कोड  होगा?

Ans 1. 48

2. 45

3. 35

4. 44



Question ID : 239087655
Status : Answered

Chosen Option : 2

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 239087789
Status : Answered

Chosen Option : 2

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 239087794
Status : Answered

Chosen Option : 4

Q.3

Ans
1. 

2. 

3. 

4. 

Question ID : 239087793
Status : Answered

Chosen Option : 2

Q.4

Ans 1. 
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2. 

3. 

4. 

Question ID : 239087786
Status : Answered

Chosen Option : 1

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 239087774
Status : Answered

Chosen Option : 3

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 239087784
Status : Answered

Chosen Option : 1

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 2390871056
Status : Answered

Chosen Option : 2

Q.8

Ans 1. 

2. 

3. 



4. 

Question ID : 239087795
Status : Answered

Chosen Option : 2

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 239087787
Status : Answered

Chosen Option : 1

Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 239087775
Status : Answered

Chosen Option : 2

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 239087788
Status : Answered

Chosen Option : 3

Q.12

Ans 1. 

2. 



3. 

4. 

Question ID : 239087780
Status : Answered

Chosen Option : 1

Q.13

Ans
1. 

2. 

3. 

4. 

Question ID : 239087776
Status : Answered

Chosen Option : 2

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 239087792
Status : Answered

Chosen Option : 4

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 239087779
Status : Answered

Chosen Option : 1

Q.16

Ans 1. 



2. 

3. 

4. 

Question ID : 239087790
Status : Answered

Chosen Option : 1

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 239087782
Status : Answered

Chosen Option : 3

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 239087778
Status : Answered

Chosen Option : 1

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 239087785
Status : Answered

Chosen Option : 3

Q.20

Ans 1. 

2. 

3. 



4. 

Question ID : 2390871058
Status : Answered

Chosen Option : 4

Q.21

Ans
1. 

2. 

3. 

4. 

Question ID : 239087791
Status : Answered

Chosen Option : 4

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 239087783
Status : Answered

Chosen Option : 1

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 239087781
Status : Answered

Chosen Option : 3

Q.24

Ans 1. 

2. 

3. 

4. 



Question ID : 2390871057
Status : Answered

Chosen Option : 1

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 239087777
Status : Answered

Chosen Option : 4

Q.1 लगुम  काल   से फारसी   महाभारत को ______ नाम से जाना जाता ।ैह

Ans 1. ामानीततू

2. शाहनामा

3. 

4. बादशाहनामा

Question ID : 239087547
Status : Answered

Chosen Option : 3

Q.2  वॉक टू '   है?

Ans 1.  

2. जॉन एफ ीडनेकै

3.  ालडेमं

4.  

Question ID : 239087529
Status : Answered

Chosen Option : 3

Q.3   से कौन 15वी  के दौरान असम    के    से एक था?

Ans 1. जयदेव

2. घासीदास

3. रायदास

4. वदेरकशं

Question ID : 239087546
Status : Answered

Chosen Option : 2

Q.4 2019    से   को '   का  '   है?

Ans 1. ीडखंौच  

Section : General awareness



2. खमेध  

3.  

4. रामभर 

Question ID : 239087524
Status : Answered

Chosen Option : 1

Q.5   से   सरकार ने नूज  2019  कारखाना  1948  नधोशंस  को ीरूजंम   है?

Ans 1. गोवा

2. 

3. तारजगु

4. केरल

Question ID : 239087535
Status : Answered

Chosen Option : 3

Q.6 भारतीय  के      के     गया है?

Ans 1.  16

2.  21

3.  25

4.  17

Question ID : 239087536
Status : Answered

Chosen Option : 4

Q.7 2018 तक   के रासुनअ , कोको बीज का सबसे बड़ा  ______ ।ैह

Ans 1. 

2. 

3. 

4. आइवरी 

Question ID : 239087543
Status : Answered

Chosen Option : 1

Q.8 भारत  उस  मादा नटुगंरऑ  का नाम  था    के    था?

Ans 1. 

2. 

3. 

4. 

Question ID : 239087540
Status : Answered

Chosen Option : 3



Q.9 2018    से खँआ  के  भाग को   3D   गया है?

Ans 1. 

2. 

3. 

4. 

Question ID : 239087542
Status : Answered

Chosen Option : 2

Q.10   से कौन-सा  20,000  रन बनाकर सबसे जेत   से रन बनाने वाला
 बन गया?

Ans 1.  कोहली

2.  

3.  धवन

4. एम.एस धोनी

Question ID : 239087527
Status : Answered

Chosen Option : 1

Q.11  भारत के  ,    से कौन-सा  सही है?

Ans 1.  पोलो - 

2. अल-  - 

3.   - 

4.  बारबोसा - 

Question ID : 239087548
Status : Answered

Chosen Option : 1

Q.12 एक    वॉट होते ?

Ans 1. 766 वॉट

2. 746 वॉट

3. 756 वॉट

4. 736 वॉट

Question ID : 239087541
Status : Answered

Chosen Option : 2

Q.13 भारतीय    नकोलवारनुप    और    का   देश से
 गया है?

Ans 1. 

2. 

3. जापान

4. 



Question ID : 239087537
Status : Answered

Chosen Option : 4

Q.14  के साथ     होने पर कौन-सी सैग   होती है?

Ans 1. 

2. 

3.  

4. 

Question ID : 239087538
Status : Answered

Chosen Option : 2

Q.15 नूज  2019 तक   के रासुनअ , भारतीय  घंस  के  कौन ?

Ans 1. राजीव ातहमे

2. नारायण 

3. अभय  चौटाला

4.  

Question ID : 239087528
Status : Answered

Chosen Option : 4

Q.16  बजट 2019 के रासुनअ , सोना और   धातु पर  10% से बढाकर ______ कर
 गया ।ैह

Ans 1. 0.105

2. 0.11

3. 0.12

4. 0.125

Question ID : 239087533
Status : Answered

Chosen Option : 2

Q.17   से कौन-सा पौधा  है?

Ans 1. मॉस

2. एलगी

3. 

4. साइकस

Question ID : 239087539
Status : Answered

Chosen Option : 1

Q.18   से कौन भारत  से   है?

Ans 1. मोरारजी देसाई

2. एम.जी. 



3.   

4.  भावे

Question ID : 239087530
Status : Answered

Chosen Option : 3

Q.19   से   पर '  सागर धंाब '  है?

Ans 1. गोदावरी

2. 

3. ीरवेाक

4. 

Question ID : 239087545
Status : Answered

Chosen Option : 2

Q.20   से ______  घाट  सबसे ऊंची  ।ैह

Ans 1. 

2. 

3. 

4. ीडमुइानअ

Question ID : 239087544
Status : Answered

Chosen Option : 2

Q.21   से कौन-सी  नतेच  भगत    है?

Ans 1. नशलुोवरे  2020

2.   ऑसम

3. वाइज डंए  अदरवाइज़

4. वन  

Question ID : 239087531
Status : Answered

Chosen Option : 1

Q.22  ऑफ बड़ौदा ' का  कहाँ  है?

Ans 1. णेपु

2. कोलकाता

3. वडोदरा

4. ईबंमु

Question ID : 239087532
Status : Answered

Chosen Option : 4

Q.23 ोकूय    टैगलाइन  है?

Ans



1. रयवे  एवरी  इज़ 

2. फेथफुल डंए  

3.  योर 

4. डगु  पीपल टू  

Question ID : 239087534
Status : Answered

Chosen Option : 3

Q.24   से कौन ीरुसंाब  वादक है?

Ans 1.  

2.  

3.  कुमार 

4.  रकशं

Question ID : 239087525
Status : Answered

Chosen Option : 1

Q.25 भारत के      मनाया जाता है?

Ans 1. 

2.  लागबं

3. 

4. असम

Question ID : 239087526
Status : Answered

Chosen Option : 4


